| FRHRANN (d=F) AT=D / T=TINYFLX 50%x50

System
Products

E%R

Industrial

Manual Swivel (Tilt) Stages / Table Size 50x50

RERA

Manual
Stage

STOSA-S1T STOS5A-S1B STO5A-S1S
STOSA-S1M STOSA-S1L

[ElEn

Rotation
@ STO5A-S1T
(0.5) 50 (0.5)
30 Clamp P15

(12)
1
i

BEnEE
25— ®

Motorized & @4 Depth 5mm

Stage

8-M3 Depth 5mm
X-XY
XeXY

0
40
30

©

© Micrometer Head
4

©

T

z -
(81) ! @ STO5A-S1M @ STO5A-S1B

[Ol#s
Rotation Rotation Center Rotation Center Rotation Center

N
(18.5)

50

ZAN)L
(a=%)

Swivel

10

Si=Ert

754 T e 19 | 0

;{E:) 40 4-for M3 screws ° PY T ,E%d
= Shaft Length 3mm AR o 1%

XY6 |
Bz a0 4-for M3 screws

25— Shaft Length 3mm oLy ﬂ_‘

\éi{\cuum 40 4-for M3 screws
age
g ’ STO5A-S1S Micrometer Head Shaft Length 3mm

68

86

18

18

9.25

18
o
K
©)

HlfHI=E

Control

Electron- [to} T 1| —
ics ] EE

£-5- > ~
avhO-35 Ay & ] &
Motor i =
Controller

RSN b 8-M3 Depth 5mm NS (Z) ®
RyI2R @ L S

Driver © ; .
Box

77U
Z—I?E b 2 Clamp ®15
Al (12) 50 18.5

E—5—
RS\
Motor
Driver

E=/=
T—=2
Motor
Cable

Appendix —<ﬁ° © Q _J [°
Nceamel

7t
)=
Accesso-
ries 40 4-for M3 screws
Shaft Length 3mm

| @4 Depth omn
P4 Depth 5mm =10

50
0
30
}\7

\

(12)

@ STO5A-S1L

Rotation Center ;Rotation Center

50

68

18

18
18

o o
i L= s
4-for M3 screws Scofilccom
Shaft Length 3mm e I @LL @E

18

RE
VAT I
Inspection
System

G-018 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



7h3/40AQ=F744 K / 94 70X=44%4 ML Bl

Aluminum Body / Cross-Roller Guide / Side-Mount Micrometer

e STO5A-S1T STO5A-S1M STO5A-S1B STO5A-S1S 31 STO5A-S1L %2
Model Number
 BFEOER STOSA-S1T-R STO5A-STM-R STO5A-S1B-R STO5A-S1S-RRR STO5A-S1L-RRR
Mirror Model Number
F—7)E
Table Size 50mmXx50mm
ESopsk-o HBREI/OZAO—FH/R
Guide Mechanism Cross-Roller Guide
|25 EE B

Angular Range

+3°

T—JTAAEVA
Work Distance

50mm=0.2mm

68mm=0.2mm

86mm=0.2mm

50mm=0.4mm

68mm=0.4mm

BlEsh DR E . 5
Rotation Center Error ©0.05mm/+3 ®0.1mm/£3
/AL
Minimum Readout
~ 0.0097°/B& (S1T) | = 0.0074°/B&(S1M)
Bl ~ 0.0097° /B ~ 0.0074°/B8& ~ 0.006°/B8% ~ 0.0074°/BB(S1M) | =~ 0.006°/82 (S1B)

Angular Motion

~ 0.0097°/div

~ 0.0074°/div

~ 0.006°/div

~ 0.0097°/div (S1T)
~ 0.0074°/div (S1M)

~ 0.0074°/div (S1M)
=~ 0.006°/div (S1B)

FE— XA . .
Moment Load Stiffness 0.31 arcsec/N-cm 0.92 arcsec/N-cm
IKFFE
Load Capacity (Horizontal) 29.4N (3kef)
"E FIIE
Material Aluminum Alloy
o e e
Finish Clear-Matt Anodizing
BE
Weight 0.21ks 0.42kg
ExE) A YATOX—BZAYR (13mm)
Actuator Micrometer (13mm)
V=20V ZERRELI
Clean Room Lubricant Model Number STO5A-S1T-C STO5A-S1M-C STO5A-S1B-C STO5A-S1S-C STO5A-S1L-C
BZ2J) ARER
Vi (Lot Mtentel Nuifass STO5A-S1T-V STO5A-S1M-V STO5A-S1B-V STO5A-S1S-V STO5A-S1L-V
%1 STO5A-S1SIE. STO5A-S1TESTOSA-STMDIEAEHETT . %3 BFEV. EROMBFICOVTIEG-004X—2E2BRB LTI,
) Combination of STO5A-S1T and STO5A-S1M form 2-axes swivel stage model : Refer to page G-004 for Information on Standard and Mirror Symmetry
STO5A-S1S. Configuration.
%2 STO5A-S1LI&. STO5A-SIMESTOSA-S1BOEARHLETT . %4 AANIWAT—IBAEQE—X Y MAEEO—ILBIEE R Y ET,

F—N—FKR—NBEICXHEBRRIIEENELA.

Combination of STO5A-S1M and STO5A-S1B form 2-axes swivel stage model

STO5A-S1L.

FRICOVWTIR1ER—D %5

° BLTTEW (XA 7AX =AY REF—N—KR—IHFHNEBVET) .

Additional parts cost is not included on Overhaul cost. Refer to page 16 for

further information (Micrometer is not included in the overhaul).

o2

U=200) AHHROBKIEKRRIC “-C" P EY. HMICDLTIFC-003 o

—2%EBRLUTTEL.

Clean room lubricant model has “-C” at the end of model number. Page C-003 for
further information.

BREIWLWEDLEIE*TEL:044-981-2131,7 FAX:044-981-2181

Moment Stiffness of single Swivel stage is measured in Roll Direction.

B2 ZEFROBRIEKEIC -V PRHEET.

TEBRLTTEL,

RIS DL TIEC-003N—

Vacuum lubricant model has “-V” at the end of model number. Page C-003 for

further information.

BERDZELICKIRADYLES A £,
FLCIEERBETBRVEDET X0,

We appreciate the product customizing. Contact us for further information.
7Y VIZDNTIFO-001R—=2 BB LTTE0,

Refer to page 0-001 for information on accessory.

[E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

EXA

Industrial

RERA
Experi-
mental

FHER

27—

Manual
Stage
X-XY
X-XY

NN

[ElEn

Rotation

XXY

NN

[Elk

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

754
PSS
25—
XYe

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

1153
Appendix

G-019



